Given the

I fx)=3>%2x*-6x—1
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How many solutions does the polynomial below have? Also,

3, f(x)= —2x>+6x*—5x+3
# of solutions:

Degree: __3

Name of function:
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omials below, Identify the y-intercept.

(2. f(x) = —4x* —5x> +2x* +4x + 5
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1lAd—eng§,;7_tﬁhé degree and name the function.
4 F(x)=2x*+x3-x*>+4x+3
# of solutions: Y

Degree:

Name of function: M

Write the polynomial function in factored form that has zeros:
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d) x(x+1)(x-6)(x-9)

Find all zeros of the polynomial function. One factor has been given
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Find all zeros of the polynomial function. One Zero has been given
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